Lecture Notes 26th December 2016

MONDAY 26 DECIL ZECTURE #14 PRATICE PROBLEMSI-" DTFT" PROBLEM #1:a) x[n]= 8[n+2]-8[n-2] JOL:-Using the Fourier transform analysis equation, the Fourier transform of this signal is 3-X(ein) = & x(n)e-inn = 2 [S(n+2) - S(n-2]] e-iwn Using Euler's 'edentity' - $\sin(x) = e^{ix} - e^{ix}$ $X(e^{i\omega}) = 2i\left(\frac{e^{2i\omega}-e^{2i\omega}}{e^{2i\omega}}\right) \Rightarrow 2i\sin(2\omega)$ b) $x[n] = \sin\left(\frac{\pi}{3}n + \frac{\pi}{4}\right)$, $-\pi \le \omega \le \pi$ The given signal is periodic so, LFourier transform : $X(e^{i\omega}) = \sum_{k=-\infty}^{\infty} 2\pi a_k S(\omega - 2\pi k)$ Sou:-The fundamental period of given signal is:- $N = 2\pi = 2\pi \times 3 \Rightarrow 6$ N=>6 The signal may be written as $x[n] = \frac{1}{23} e^{3(\pi i_3 n + \pi i_4)} - \frac{1}{23} e^{3(\pi i_3 n + \pi i_4)}$ $= \frac{1}{2i} e^{i\frac{\pi}{4}} e^{i\frac{\pi}{3}} - \frac{1}{2i} e^{-i\frac{\pi}{4}} e^{-i\frac{\pi}{3}}$

From this, we obtain the non-zero Fourier series reflicients an of x(n) in the targe $-2 \le k \le 3$ as $a_1 = (\frac{1}{2})e^{i\frac{\pi}{4}}$, $a_{-1} = (\frac{1}{2})e^{i\frac{\pi}{4}}$ Therefore in the same $-\pi \leq \omega \leq \pi$ we obtain, $\chi(e^{i\omega}) = 2\pi q S(\omega - 2\pi) + 2\pi q S(\omega + 2\pi)$ > 2 t (1 e' th) S (w - 2 t () + /2 t (-1 e' 14) S (w + 2 t /6) X(ein) = I eit S(u-2116) - I et al S(u+2116) c) $x[n] = (a^{\circ} \sin \omega_{on}) u[n]$ Soli Using modulation property: sin won and 2T (S(w-wo) - S(w+wo periodically seperated then s $X(e^{i\omega}) = \frac{1}{29} \begin{bmatrix} 1 \\ 1 - \alpha e^{-i(\omega - \omega_0)} \\ 1 - \alpha e^{-i(\omega + \omega_0)} \end{bmatrix}$ periodically repeated. 1, x[n] d) x (D: Sou $X(e^{i\omega}) = \sum_{n=0}^{\infty} x(n)e^{i\omega n}$ $= \frac{1}{2} e^{j\omega n} = \frac{1}{2} \left(e^{j\omega} \right)^n$ Using the identity & and 1-a

$$\begin{array}{l} \chi(e^{i\omega}) \Rightarrow 1 - e^{-i\omega} \\ 1 - e^{-i\omega} \\ \end{array}$$

$$\begin{array}{l} \Rightarrow \text{ Alternatively, we can we the fact that } \chi(n) = u(n) - u(n-1), so \\ \chi(e^{i\omega}) = 1 \\ 1 - e^{-i\omega} \\ \end{array} \xrightarrow{} e^{-i\omega} \\ \Rightarrow 1 - e^{-i\omega} \\ \end{array}$$

$$\begin{array}{l} \chi(e^{i\omega}) = 1 \\ 1 - e^{-i\omega} \\ \end{array} \xrightarrow{} 1 - e^{-i\omega} \\ \end{array}$$

$$\begin{array}{l} \Rightarrow 1 - e^{-i\omega} \\ 1 - e^{-i\omega} \\ \end{array}$$

$$\begin{array}{l} \Rightarrow 1 - e^{-i\omega} \\ 1 - e^{-i\omega} \\ \end{array}$$

$$\begin{array}{l} \Rightarrow 1 - e^{-i\omega} \\ 1 - e^{-i\omega} \\ \end{array}$$

$$\begin{array}{l} \chi(e^{i\omega}) = 1 \\ \chi(e^{i\omega}) = 1 \\ \end{array}$$

$$\begin{array}{l} \Rightarrow \pi/\mu \\$$

$$\begin{array}{l} \end{array}$$

$$\begin{array}{l} \Rightarrow \pi/\mu \\ \end{array}$$

$$\begin{array}{l} \end{array}$$

$$\begin{array}{l} \Rightarrow \pi/\mu \end{array}$$

$$\begin{array}{l} \end{array}$$
\\

6)
$$\chi(e^{i\omega}) = \frac{1 - \sqrt{3}}{4} e^{i\omega} - \frac{1}{4} e^{i\omega}$$

 $1 - \frac{1}{4} e^{i\omega} - \frac{1}{8} e^{i\omega}$
Factoring demonstrates $e^{i\omega}$ expanding equ given transform using lasted
functions give,
 $\chi(e^{i\omega}) = \frac{1 - \frac{1}{2} e^{i\omega}}{(1 - \frac{1}{2} e^{i\omega})} = \frac{A}{1 - \frac{1}{2} e^{i\omega}} + \frac{B}{1 - \frac{1}{2} e^{i\omega}}$
 $\chi(e^{i\omega}) = \frac{1 - \frac{1}{2} e^{i\omega}}{(1 - \frac{1}{2} e^{i\omega})} = \frac{A}{1 - \frac{1}{2} e^{i\omega}} + \frac{B}{1 + \frac{1}{2} e^{i\omega}}$
 $\chi(e^{i\omega}) = \frac{1 - \frac{1}{2} e^{i\omega}}{(1 - \frac{1}{2} e^{i\omega})} + 5\left(\frac{1 - \frac{1}{2} e^{i\omega}}{1 - \frac{1}{2} e^{i\omega}}\right)$
 $\chi(e^{i\omega}) = -\mu$
 $1 - \frac{1}{2} e^{i\omega} = A\left(\frac{1 + \frac{1}{4} e^{i\omega}\right) + 5\left(\frac{1 - \frac{1}{2} e^{i\omega}\right)$
 $1 + \frac{1}{2} = A(0) + \frac{1}{2} \left(\frac{1 + \frac{1}{4} e^{i\omega}\right) + 5\left(\frac{1 - \frac{1}{2} e^{i\omega}\right)$
 $1 + \frac{1}{2} = A(0) + \frac{1}{2} \left(\frac{1 + \frac{1}{4} e^{i\omega}\right) + 5\left(\frac{1 - \frac{1}{2} e^{i\omega}\right)$
 $B = B(B) \Rightarrow B = \frac{1}{3} = B(B) \Rightarrow B = \frac{1}{3}$
 $1 + \frac{1}{2} = A\left(\frac{1 + \frac{1}{2}\right) + B\left(0\right) = \frac{1 + \frac{1}{2}}{3}$
 $1 - \frac{1}{3} = A\left(\frac{1 + \frac{1}{2}\right) + B\left(0\right) = \frac{1 + \frac{1}{2}}{3}$
 $\frac{3 - 2}{3} = A\left(\frac{2 + 1}{2}\right) \Rightarrow \frac{1}{3} = A\left(\frac{3}{2}\right)$
 $A \Rightarrow 2$
putting $A \neq B$ is $e^{i\omega}(0)$.
 $\chi(e^{i\omega}) = \frac{2/a}{1 - \frac{1}{3} e^{i\omega}} = \frac{1 - \frac{1}{4} e^{i\omega}}$
 $\chi(n) = \frac{2/a}{2} + \frac{1}{2} \left(\frac{1}{2}\right) \sin(n) e^{i\omega}$
 $\chi(n) = \frac{2}{4} \left(\frac{1}{2}\right) \sin(n) e^{i\omega}$

Problem #3.
(4)
$$V(n) \rightarrow n(4)$$
 $V(n) \rightarrow system S.$
a) $H(i^{in})=?$
Sol-
(4) $V(n) \rightarrow n(4)$ $V(n) \rightarrow x(6^{2n}) = 1$
 $(4)^{n} U(n)$.
Sol-
 $(4)^{n} U(n)$.
Sol-
 $(4)^{n} U(n)$.
Sol-
 $(4)^{n} U(n)$.
Sol-
 $(4)^{n} U(n)$.
 $(1)^{n} V(n)$

Y(ein) {1- 4 ein] = X(ein) ((4) s)ein) Taking invose Fourier transform of both sides: y(n) - 4 y(n-1) = 4 x(n)

PROBLEM# 4:- $A[v]=; p[v]=(\frac{7}{7}), n[v] + x[v]=(v+1)(\frac{7}{7}), n[v]$ Sou- $\frac{Y(e^{j\omega}) = H(e^{j\omega}) \times (e^{j\omega})}{1 - \frac{1}{2}e^{j\omega}} \qquad (\cdots a^n u(n) \xrightarrow{Diri} 1)$ $\chi(\dot{e}^{i\omega}) = 1$ $(1 - \dot{t}e^{-i\omega})^2$ $Y(e^{i\omega}) = \left(\frac{1}{1-\frac{1}{2}e^{-i\omega}}\right) \left(\frac{1}{(1-\frac{1}{2}e^{-i\omega})^2}\right)$ Expanding through partial fraction we get $Y(e^{i\omega}) = \frac{4}{1 - \frac{1}{2}e^{i\omega}} - \frac{2}{1 - \frac{1}{2}e^{i\omega}} - \frac{3}{(1 - \frac{1}{2}e^{i\omega})^2}$ Taking Fourier transform, we obtain. $y[n] = 4(1)^{n}v[n] - 2(1)^{n}v[n] - 3(n+1)(1)^{n}v[n]$ b) y[n] = x[n] * h[n] > ?X(eim) = 3eim +1 - eim + 2eima H(eiw) = -eiw +2eizw +einw Sol:-Y(ein) = X(ein) H(ein) $= (3e^{j\omega} + 1 - e^{j\omega} + 2e^{j\omega^3}) (-e^{j\omega} + 2e^{j2\omega} + e^{j4\omega})$ $= -3e^{32\omega} + 6e^{-3\omega} + 3e^{-3\omega} - e^{4\omega} + 2e^{32\omega} + e^{34\omega} - e^{0} - 2e^{3\omega} - 4e^{3\omega} + 2e^{3\omega} +$

Thesefore, $y[n] = -3 \delta[n+2] - 4 \delta[n-1] + 3 \delta[n-3] - \delta[n] + 1] + \delta[n-4]$ +28[n-7] "SAMPLING" ACTELEM #6:-WFM = Nyquist rate =? 2) x(t)= 1+ ws (2000 Tt) + sin (4000 Tt) Sou:-Maximum Frequency = Typen = 4000TT Thesefore, the Mygaist rate for this signal is up = 2(4000T) WH > SCOOT. b) x(E) = sin (4000 TE) TH Sour > We know that, X(jw) is a sectangular pulse for which X(jw)=0 for 1w1>4000m. Therefore, the Myquist rate un = 2 (4000TT) = 8000TT

"Z - TRANSFORM" PROBLEM #7: $x[n] = \left(\frac{1}{2}\right)^n u[n-3]$ X(z)=? ROC=? Sol-X(z)= & x(n) z-n $= \underbrace{\mathcal{A}}_{n-\infty} \left[\underbrace{(\frac{1}{2})^n \cup (n-3)}_{2^{-n}} \right] 2^{-n}$ $= \underbrace{\mathcal{E}}_{n=3} \left(\frac{1}{5}\right)^n 2^{-n}$ $= \left(\frac{\mathbf{Z}^{-3}}{5}\right)^{3} \stackrel{\mathcal{S}}{\underset{N=0}{\overset{\mathcal{S}}{=}}} \left(\frac{1}{5}\mathbf{Z}^{-1}\right)^{n}$

 $X(2) = \left(\frac{2^{-3}}{125}\right) \left(\frac{1}{1-\frac{1}{5}2^{-1}}\right), \frac{|2| > 1}{5}$ Sunity and = 1 Re PROBLEM #8: $x[n] = \begin{cases} (\frac{1}{3})^n \cos(\frac{\pi}{4}n) & n \leq 0 \end{cases}$, 070 0 poles & ROC =>? Sour $X(z) = \underbrace{\mathcal{E}}_{N=-\infty} \left(\underbrace{\pm}_{3}^{n} \cos \left(\underbrace{\mp}_{4}^{n} \right) z^{n} \right)$ $= (1) \underbrace{\mathcal{E}}_{n=0} (1)^{n} e^{i\frac{\pi}{4}n} z^{-n} + (1) \underbrace{\mathcal{E}}_{n=0} (1)^{n} e^{i\frac{\pi}{4}n} z^{-n}$ $\frac{1}{1-3e^{\frac{1}{4}}z} + \frac{1}{2} \frac{1}{1-3e^{\frac{1}{4}}z}, \frac{1}{1-3e^{\frac{1}{4}}z}$ $\chi(z) = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$ The poles are at z=1 2th and z=1 ett Im Re Ro.

PROBLEM #9:-

$$\chi_{1}(n) = (+)^{n} \chi_{1}(n) \rightarrow absolutely summable
\chi_{2}(n) = (+)^{n} \chi_{1}(n) \rightarrow not absolutely summable
 $\chi_{1}(n) = hyt sided or sight sided or two sided?
 $\chi_{1}(n) \stackrel{2}{\longrightarrow} \chi_{2}(n) \stackrel{2}{\longrightarrow} \chi_{2}(n) \stackrel{2}{\longrightarrow} \chi_{1}(n) \stackrel{2}{\longrightarrow} \chi_{1}(n)$$$$

b) 2+1 2+4-12-2-22-3 Sol:-This 2-transform has a pole at -4. Therefore it is not-causal. PROBLEM # 12 1-Diagram on in slides a) Difference equation = ? Sol: H(z)= 1-6z-1+8z-2 1-22' +1222 $H(2) = \frac{Y(2)}{X(2)}$ we may write $Y(2)(1-2z'+1z^2) = X(2)(1-6z'+8z^2)$ Taking the inverse 2-transform we obtain $y[n] - \frac{2}{3}y[n-i] + \frac{1}{9}y[n-2] = x[n] - 6x[n-i] + 8x[n-2]$ b) Is this system stable? SOL: H(2) has only two poles. These are both at 2=1. Since the system is causal, the ROC of H(2) will be of the form 121>7. Since the ROC includes the unit circle, the system is stable.

PROBLEM # 13:y[n]= y[n-1] +y[n-2] +x[n-1] a) H(z)=) plot poles & zeros ef H(z) and indicate Roc. Sol-Taking 2-transform on both sides weget $\frac{Y(z) - z^{-1}Y(z) - z^{-2}Y(z) = z^{-1}Y(z)}{Y(z)\left[1 - z^{-1} - z^{-2}\right] = z^{-1}(x(z))}$ $H(z) = \frac{Y(z)}{X(z)} \Rightarrow \frac{z^{-1}}{1 - 2^{-1} - z^{-1}}$ The poles of H(z) are at:- z= -bt Jb'-yac 2= (12) ± (J5/2) - +1 ± [1-4(+1x-) H(2) has a zero at z=0. 200 1+4 1+ 5/2 1 ± The pile - zero plot for H(z) is shown belows-AIM 1-I X 1+55 Re The h[n] is causal, the ROC for H(2) has to be 121 > ((1/2) + (55/2)).

Day/Date

$$F | + |S = -1 + |S = -1$$

putting A & B in equ().

$$H(2) = \frac{1}{\sqrt{15}} - \frac{1}{\sqrt{15}} - \frac{1}{\sqrt{15}} - \frac{1}{(1-\sqrt{5})} z^{-1}$$

$$I - (\frac{1+\sqrt{5}}{2}) z^{-1} - (\frac{1-\sqrt{5}}{2}) z^{-1}$$
Taking inverse frame Z-transform and using pair:

$$a^{n} u(n) \stackrel{2}{\longrightarrow} \frac{1}{1-az^{-1}}$$

$$h(n) = \frac{1}{\sqrt{5}} (\frac{1+\sqrt{5}}{2})^{n} u(n) \stackrel{2}{=} \frac{1}{\sqrt{5}} (\frac{1-\sqrt{5}}{2})^{n} u(n)$$